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flz) ==

f(z) =sinz

@) f(z) =2? 3)  f(z)=3 (4)

(1) f(z) =cosx (8)  f(z) =tanx 9)

fz) =2t (5)  flz)= %

fl@)=logz  (10)  f(z)=e¢

HARB n 1S L T, fo(x) BFBIEL, g, () SMEBEEL, ha(2) 13 ED 5 THRVEE T 2. RO EHRESE 5130,
B 5 13@, £ 5T HRVEARE, HETEHVLEAER@QZHT. 2L EoRLFEMHE IRV ETS. DFD
fa(@) #0, gu(z)#0, ho(z)#0 T2, (SHK40F, A1, B#14r30%, C#H%35)

2f1 (.’1?)

fi(@) + fa(z)

fi(z) + fa(z)

fi(z) = ha(2)

(2 —gi(=)

(5)  g1(x) * galx)

(8)  g1(x) + g2(x)

(11 gi(z) + hi(z)
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3)  fi(z)-1

6 fi(z) gi(x)

9 filz) + g1(x)

(12) hl(l‘) ¢ hg(l‘)
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3. RO f(z) BEBEEA 5120, KL SI2Q, EboThAVEAROEET.
(S#e14y, A145r30%, Bfk24r, C#%34))

(1) f(x)=2a3 (2)  fl@)=22—-=z (3)  f(x)=sinzcosz

(4)  fla)=a"—23+=x G)  flz)= % + % (6)  f(x)=cosztanz

(7 flz)=|z] (8)  f(z)=23logz (9)  f(z) =22 +cosx
(10)  f(z) = zsinz (1) f(z) = te;% (12)  f(z) =e"cosztan®
(13)  f(z) = (sinz + tanz)? (14) f(x)=e"+e™® (15)  f(x) =log|x|
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R#ETFAN |’D ERAPEAN FEBEMEBE 01 BREMEHR

J R B U Tt Ze B &2 A BEEL, o il B U T Ze B %2 (B2 & v ) L ROBIEKL f(2) D3#FBI%E 7 5120,
B2 5 1XQ, EH56THLRVEAIEREEZHFT. (SHk12®, Afk20%, B#30#, C#H50F)
* VS 7&8AA—=IT 3.
(1) flx)=2z (2) f(x) = 2? (3) flx)=3 (4) flx) = a4 (5) flx) = %
© @ @ ©) ®
(6)  f(x)=sinx (1)  f(z) =cosx (8)  f(z)=tanx 9  f(x)=logz (10)  f(z)=e"
® @ ® ® ®
HARBn 1S LT, folo) ZFBEL, g, (x) EBEEL R, (2) 1ZEL 5 THHRVEE T 2. XROBEBDFHREEL 5120,
B2 512@, 556 THRVEAIEE, RETERVLEAIZ@OZEFT. 2L CoBBDFERHTERVWETS. 2% D
fn(@) #0, gu(z)#0, ho(z)#0 £T2. (SHK40F, A1, B#145r30%, C %35 )
*FEY (R THMGEE) f(x) =2! ZAAXA—ITS. TH: H5PZ 2 IEWULT f(z) = —Ff(—x)
*EREE (y HTHMGREE) g(z) =22 ZAAXA—IFB. TER:H5HZzIKHULT f(z) = f(—2)
Yey=0RAEEETLHD, MK TLHS. CNZEDELRETER VDT, 2 TRV,
KU TIRERZHOTIEATE 2. BEFrL P LTIL L.
1) 2fi(2) 2 —gq(2) B fil) -1
YA XR—THET 3. —1-22=-22 = EHEK r—1 = EL5THHLE
2-x=2r = HWHHO
4 filx)* f2(2) (B)  gi(x) " galx) ©6)  fi(z)- gi(x)
WA A=Y THET 3. 22 2? =2 = HBEKE rea? =2 = HHEBO
rex=22 = [BEEE
(M fil@) + fa(2) 8  g1(x) + g2(x) 9 file) + gi(2)
r4+r=2x = HHHEEQ® 2+ 22 =22 = {HEEKE r+22 = ELL5THLHRVLE
(10)  fi(z) - ha() (1) gi(z) + ha(x) (12)  hi(2) * ha(x)
EHL5THRNVE EL5THRNVE KMETER WO

BIZIE z+1E2-11FEBLSH0.
Lo L, B 22 — 1 I3k 5.
FREIC LT hy(z) 4 ho(z) BOTH 2
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3. RO f(z) BEBEEA 5120, KL SI2Q, EboThAVEAROEET.
(S#e14y, A145r30%, Bfk24r, C#%34))

1) flz)=2a (2 fle)=2>-2 (3)  f(x) =sinxcosz
Q) ® @

FerBE + BB = Eb o Th v PAGENECE QR e eegit IE 4

(4) flo) =2 -2+ = (5) flx) = ﬁ—&—% (6) f(x) =cosztanz
@ ® @
yorr BEL 4 A BEEL 4 AR S= A B YlBBE% 4+ %= G T B - A RIB= AT B

(x+zx+x=3z = HEEK

(M f(z) = || ®)  f(z)=2%logx 9)  f(z)=2%+cosz
@ ® @
Yo | AR | I3 AEBI%L PACEESE -t ap o Eg i TEE 4
(10)  f(x) = asin’z (11)  fx) = tarix (12)  f(z) = e®cosxtanw
x
@ ©) ®
(13)  f(z) = (sinz + tanz)? (14) f(z)=e"+e @ (15)  f(z) =log|z|
@ @ @
e (A% + ArBI%)? S e R 7o BELR] - o AT A BEE SefeA R 7o BIELR - o A A BE
(22)% = 422 W TT72A A=Y

© B2t - BEER L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

